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QUESTION 1

Which command will display the Route Target associated to a specific prefix on an Alcatel-Lucent 7750 SR? 

A. Show router bgp routes 

B. Show router bgp routes detail 

C. Show router route-table 

D. Show router route-table 

E. Either (b) or (d) 

Correct Answer: B 

 

QUESTION 2

For a Carrier Supporting Carrier (CSC) VPRN where the customer carrier is an ISP that provides Internet connectivity to
its end-customers, which of the following is FALSE? 

A. All traffic exchanged between end-customers is carried over a single CSC VRF. 
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B. Customer carrier PE routers residing in different sites must run eBGP between them to exchange customers\\'
routes. 

C. The customer carrier network can be a pure IP network. 

D. MPLS can be used in the customer carrier network to improve scalability. 

Correct Answer: B 

 

QUESTION 3

When VPRN Outbound Route Filtering (ORF) is enabled, each PE sends its ORF list to its peer using which of the
following BGP message types? 

A. Open 

B. Update 

C. Route Refresh 

D. Notification 

Correct Answer: C 

 

QUESTION 4

Which of the following is a characteristic of inter-AS model C VPRN? 

A. A data packet destined to a remote AS is encapsulated with three labels within the originating AS. 

B. The ASBR redistributes VPN-IPv4 updates to its ASBR eBGP peers. 

C. PE routers in different ASes exchange IPv4 routes directly between each other using eBGP. 

D. The advertising ASBR assigns a new label to the route before sending it via an MP-eBGP update to its ASBR peer. 

Correct Answer: A 

 

QUESTION 5

VPN-IPv4 addressing is made unique by defining an address structure consisting of: 

A. A 64-bit Route Target followed by a 32-bit IPv4 address. 

B. A 64-bit Route Distinguisher followed by a 32-bit IPv4 address. 

C. A 32-bit Route Distinguisher followed by a 32-bit IPv4 address. 

D. A 32-bit Route Target followed by a 32-bit IPv4 address. 

Correct Answer: B 
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QUESTION 6

Which of the following describes the goal of an Extranet VPRN? 

A. To reduce the number of VPRN tunnels required. 

B. To allow routes to be exchanged between all, or selected, sites of one VPRN, and all, or selected, sites of a second
VPRN. 

C. To simplify the administration of multiple VPRNs. 

D. To allow network access between the headquarter sites of each VPRN service and a shared VPRN service offered
by a third party. 

Correct Answer: B 

 

QUESTION 7

In a traditional layer 3 VPN which of the following will be an issue when there is overlapping address space between two
customers? Choose the best answer. 

A. There will be increased memory usage on the PE 

B. There will be increased CPU utilization on the PE 

C. The CE will reject the overlapping prefix 

D. The PE will not recognize the prefixes as being different 

E. There is no issue with overlapping address space in a traditional Layer 3 VPN 

Correct Answer: D 

 

QUESTION 8

What operation does a P device perform when it receives a labeled packet for a VPRN service? 

A. It forwards the packet based on the label signaled by MP-BGP. 

B. It decrements the TTL and forwards the packet based on the inner label. 

C. It swaps the outer label then forwards the packet. 

D. The P router does not perform any operations on labeled packets. 

Correct Answer: C 

 

QUESTION 9
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In a Carrier Supporting Carrier (CSC) VPRN, which of the following is a benefit to the network provider? 

A. No need to build and maintain its own backbone. 

B. The solution scales as the number of serviced customer carriers increases. 

C. The solution scales as the number of VPNs offered by the customer carriers increases. 

D. The ability to manage end-customer services. 

Correct Answer: C 

 

QUESTION 10

Which of the following about inter-AS model B VPRN is TRUE? 

A. The ASBRs use MP-eBGP to peer with each other and exchange IPv4 routes between autonomous systems. 

B. The ASBRs use MP-iBGP to peer with PE routers in their autonomous system and exchange VPN-IPv4 routes. 

C. The ASBRs maintain a mapping of labels for IPv4 routes exchanged between autonomous systems. 

D. The ASBRs require per-VPRN configuration. 

Correct Answer: B 

 

QUESTION 11

When configuring BGP as the PE-CE protocol on an Alcatel-Lucent 7750 SR, the configuration on the CE is done under
the ____________ context and the PE configuration is under the ____________ context. 
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A. Global, router 

B. Router, router 

C. Service, router 

D. Router, service 

E. Service, service 

F. Router, global 

Correct Answer: D 

 

QUESTION 12

Which of the following protocols does the Alcatel-Lucent 7750 SR support to signal VPRN service labels? 

A. Targeted-LDP 

B. BGP 

C. MP-BGP 

D. RSVP-TE 

Correct Answer: C 

 

QUESTION 13

The policies shown below from the configuration of an Alcatel-Lucent 7750 SR have been created to implement an
Extranet VPRN between the main sites of two separate VPRNs. How should these policies be applied? 

A. ample Policy should be applied as an export policy on the PE connected to the main site of Customer 1 

B. ample Policy 3 should be applied as an export policy on the PE connected to the main site of Customer 2 

C. ample Policy 3 should be applied as an export policy on both PEs connected to the main site of Customer 1 and the
main site of Customer 2 

D. ample Policy should be applied as an export policy on both PEs connected to the main site of Customer 1 and the
main site of Customer 2 

E. ample Policy should be applied as an export policy on all PEs connected to sites of Customer 1 

Correct Answer: A 

 

QUESTION 14

When an Alcatel-Lucent 7750 SR receives a BGP update containing an AS-Path loop, what is the default action? 
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A. The update is accepted and the route installed in the route table. 

B. The update is accepted but the route will not be installed in the route table 

C. The update is rejected 

D. The peer session is dropped 

Correct Answer: A 

 

QUESTION 15

Click the exhibit. 
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For the inter-AS model A VPRN shown, which of the following about the route advertisement of 192.168.1.0/27 is
FALSE? 

A. PE1 advertises 64496:1:192.168.1.0/27 route update to ASBR1. 

B. PE2 advertises 192.168.1.0/27 route update to CE2. 

C. ASBR1 advertises 64496:1:192.168.1.0/27 route update to ASBR2. 

D. ASBR2 advertises 64497:1:192.168.1.0/27 route update to PE2. 

Correct Answer: C 
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